
 

Solaris Standars & Recommended Practices  

Front end components for BM source 
fixed mask and absorbers 

Page 1 of 22 

Date 15.05.2024 

Final Version: 2.0 

 
 

 

Front end components to the Solaris bending magnet section 
 
 

Version: 2.0 

Status: Final 

Owner: Marcin Zając; mar.zajac@uj.edu.pl 

Reviewed by:  

Approved by:  

Location: Front end\ _Solaris-BM-description  

Filename: Appendix FE2 - components 

Last update: 15.05.2024 

 
 

Revision history 

 

Version Date Description Sign 

1.0 15.01.2020 
Definition of fixed masks and cooling safety 
shutters designed for Solaris’ bending magnet 
source 

Marcin Zając 

2.0 15.05.2024 
Definition of slit unit and FATU designed for 
Solaris’ bending magnet source 

Marcin Zając 

 
 
Authors: 
 

Marcin Zając 
 

 

 

 

  



 

Solaris Standars & Recommended Practices  

Front end components for BM source 
fixed mask and absorbers 

Page 2 of 22 

Date 15.05.2024 

Final Version: 2.0 

 
1 Introduction 

This Appendix provides a background to the procurement of the bending magnet front end (FE) 

for the Solaris storage ring (1.5 GeV). It contains top assembly drawings of the already designed and 

used components for Solaris’ bending magnet (BM) source front end section. The main components 

are as follow: both fixed mask (apertures), heat absorber, slits, fluorescent screen, cooling safety 

shutters and filter holder. The vendor is free to suggest modifications or alternative solutions to the 

presented devices suggested in this Appendix. In this case the vendor shall clearly indicate the 

technical advantages and disadvantages of these alternatives as well as their possible impact on the 

price. The buyer, however, reserves the right to reject any modifications that the buyer considers 

detrimental to the operation or performance of the front end. 

 

2 Background and information 

 

For Solaris’ BM source front end few masks, slits, filter holders and cooling safety shutters have 

already been designed and can be used in final design of the BM front end section in upgraded version. 

In the following pages the general top level drawings were added.  

 

 

2.1 The fixed mask1 (FM1) and heat absorber (HA) section 

 

2.2 The SLITS unit 

 

2.3 The fluorescent screen (FLSC), cooling safety shutter-stoppers (SS1 & SS2) and fixed 

mask2 (FM2) 

 

2.4 The filter assembly trigger unit (FATU) 

 



 

Solaris Standars & Recommended Practices  

Front end components for BM source 
fixed mask and absorbers 

Page 3 of 22 

Date 15.05.2024 

Final Version: 2.0 

 
 

2.1 The fixed mask1 (FM1) and heat absorber (HA) section 

 

 

 



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

10

2 1 FBg Support 466-04-12-01-00 s_list
 

5000079054
FMB

3 1 FBg FM1 unit POLYX 466-04-12-02-00 s_list
 

5000079076
FMB

4 1 FBg Heat absorber
 

466-04-12-03-00 s_list
   

5000079081
FMB

5 1 FBg Welded Bellows 466-04-12-04-00 s_list
 

5000079164

6 1 FBg Beam Tube 466-04-12-05-00 s_list
 

5000079166
FMB

7 1 FBg CF-Tube
CF63F CF63F L685 304L

778-30-30-685
CFT63F-63F-685-304L

 304L/ 304L
 

5000079172
FMB

8 1 FT Cooling Pipe 466-04-12-01 2.0090 SF-Cu
 

5000080341
FMB

9 1 FT Cooling Pipe 466-04-12-02 2.0090 SF-Cu
 

5000080342
FMB

10 1 FT Cooling Pipe 726-02-09-13 2.0090 SF-Cu
 

5000075633
FMB

11 4 KBg CF35 Set (6xBolt)
Bolts Ag

CF035-SB_A4-80
A4-80
ISO4017-M6x20 

5000026151
-

12 8 KBg CF063 Set (8xBolt/8xNut)
Bolts Ag

CF063-SBN_A4-80
A4-80
ISO4014-M8x50, ISO4032-M8 

5000026140
-

13 2 KBg CF-Reduzierung, gerade DN63-40R 420RRG063-040
s_list
 

5000044338
FMB

14 1 KBg T-Stück DN63CF
1x rotatable flange per axis.

420RTS063
304L
 

5000053863
TRINOS

17 1 KT Ion Pump 75l/s DI, CF63 220V heater75S-DI-4V-SC-220-N  s_datasheet
 

5000068614
GammaVacuum

18 1 KT UHV-Schieber CF40 pneum., rad. resistan48132-CE44-AHJ1
 s_datasheet
 

5000073582
VAT

2
1

8
1

9
1

7
1

3
1

4
1

6
1

13
1

14
1

17
1

18
1

5
1

19
1

1
1

13
1

10
1

11
2

12
1

15
2

16
1

16
2

12
2

16
1

12
1

12
2

16
2

16
2

12
2

15
2

11
2

1 1 FBg Bellows CF63-250
CF_063_F_1_4301

352-30-02-00
420SFK063-250

s_datasheet
 

5000042965
Trinos

15 4 KT CF-Dichtung CF035-D_OFHC_w
 OFHC-Cu
 

5000002860

16 8 KT CF-Dichtung CF063-D_OFHC_w
 OFHC-Cu
 

5000002863

19 1 KT Fast Closing Valve CF40
Viton sealed.

75232-CE44
 s_datasheet
 

5000046505
VAT

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 3:20 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079053 Datum
Date

Name

Benennung / Name:               
.

FM1 & HA unit
Modell:
Model:
ASSEM

Filename: 466-04-12-00-FM1-HA-UNIT gezeichn.
23.09.2020 Schmidt

10215445 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-12-00-FM1-HA-UNIT geprueft
Schmidt

10215452 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-12-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215452 

Pruefspezifikation / Test specification

Test Specification

metr. Vermessung Pruefmaße

Fiducialisierung X-, Y-, Z-Offsets

He-Lecktest / Leakage test <5 E-10 mbar l/s

Bake out, outgassing and RGA<1 E-12 mbar l/s cm²

Base pressure <5 E-10 mbar

Drucktest / Pressure test 15/30 bar/min

Ion pump serial no

Gate Valve serial no.

7:100

tube length has to
be customized on site!

A-A

W

1:10

B-B

V

W
1:1

V
1:1

Y

Z

X

01.01

01.02

01.03

02.01

02.02

02.03

(1
9
1
3
.
5)

1
3
0
0

(6
.
9)

(1
5
)

(1
3
.
6)

(1
5
)

9
6
9

(611)

(2
3
5)

(2
4
3)

7
6
.
4
4

2
7
.
5

2
7
.
5

(502)

(3
1
7)

(3
x 

20
)

(78)

(6
1
1)



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

1
1

4
2

7
3

11
5

9
2

2
1 2

1

10
2

3
1

11
1

16
1

4
1

13
1

13
1

16
1

16
1

13
1

5
1

6
2

12
1

13
15

16
15

8
2

15
2

15
2

10
2

14
1

1 1 FBg Welded frame 466-04-12-11-00 s_list
 

5000079055
FMB

2 2 FBg Cantilever 01 466-04-12-21-00 s_list
 

5000079056

3 1 FBg Pipe clamp ø70
---

716-48-10-11-00 s_list
--- ---

5000040832
FMB

4 3 FT Head Plate
 

716-49-04 1.4301 X5CrNi18-10
Bl 3  

5000036328
FMB

5 1 FT Support Sheet 726-02-02-01  Stainless_Steel
 

5000077093
FMB

6 2 FT Bushing 726-02-02-02  304
 

5000077145

7 3 KT Edelstahl-Gelenkfuss GN 343.6-32-M8-63-OS
 Stainless_Steel
 

5000071281
Ganter

8 2 KT Gewindebolzen M6 (stud bolt) 02341618
 St_gal_Zn
 

5000034218
Wuerth

9 2 KT Kunststoffclip, einfach
Mat: PPH

0544 900 010
 s_datasheet
 

5000034263
Wuerth

10 4 KT Sechskantschraube
 

ISO4017-M10x25-A2
 A2
 

5000011619

11 6 KT Sechskantschraube
 

ISO4017-M12x100-A2
 A2
 

5000011647

12 1 KT Sechskantschraube ISO4017-M8x30-A4-80_gal_Ag
 A4-80_Ag
 

5000012848

13 18 KT Sechskantmutter
 

ISO4032-M12_A4
 A4
 

5000005099

14 1 KT Sechskantmutter
 

ISO4032-M8_A4
 A4
 

5000005097

15 4 KT Scheibe
 

ISO7089-10-A2
A2
 

5000007041

16 18 KT Scheibe
 

ISO7093-12-A2
A2
 

5000007235

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079054 Datum
Date

Name

Benennung / Name:               
.

Support
Modell:
Model:
ASSEM

Filename: 466-04-12-01-00-SUPPORT gezeichn.
28.06.2019 Schmidt

10215446 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-12-01-00-SUPPORT geprueft
Schmidt

10215451 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-12-01-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215451 

1:10

Z

Z
2:5

B-B

(1
3
5
5)

(1397)

(6
1
1)

(9
2
5)

4
4

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße) - -

Drucktest / Pressure test 15/30 bar/min

Durchflusstest / Flowrate Istwert messen l/min

He-Lecktest/Leakage test <5 E-10 mbar l/s

- - -



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

H H

G G

F F

E E

D D

C C

B B

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, 
wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe 
enthalten.
Printed copies of this drawing are in change management only, 
if they additionally contain the green stamp releasing them for 
production.

( 10)

3
1

4
1

5
2

6
1

7
1

8
1

1
1

2
1

278 0.3

0.1

178

0.2 A B

0.2 A B

Pruefspezifikation / test specification
 Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

Bake-out cycle with RGA (1-100 AMU):
 Temperature
 Time
 RGA: Sum of all AMU >28 (except 44) 
 must be less than 1% of total pressure
 

 
max. 250

>24
 

         passed
 
 
 

 
°C
hours
 
 

Final pressure 
 

 <1x10E-10 mbar

He-leaktest:
 Before bake-out at room temperature:
 After bake-out at room temprature:
 (Cooling cycles have to be filled with 
 ~10bar Helium)

 
<1x10E-10
<1x10E-10

 
mbar l/s 
mbar l/s 

Desorption rate <1x10E-12 mbar l/s cm²

inner surface 680 cm²

Flow rate:
Pressure drop (to be added) :

3.4
 

l/min
bar

Dimensional test (see drawing):
(room temp. 23±3°C)
 

         passed

Visual internal and external inspection:          passed

Functional test under vacuum:
- Thermocouple (comparison measurement)

 
 passed

1 1 FBg FM1 (brazing) 466-04-12-12-00 s_list
 

5000079162
FMB

2 1 FBg T-Piece 466-04-12-22-00 s_list
 

5000079156

3 1 FBg Thermo Element 726-10-06 s_list
 

5000056083
FMB

4 1 FT Plug Holder
 

726-10-07  304L
Bl 2 21x49

5000056084
FMB

5 2 KBg 1.5" Nest, M6
Free issue part.

5000056859
Solaris

6 1 KT CF-Flansch, rot. CF063-R_304L
 304L
 

5000004597

7 1 KT Thermo Couple Joint. Ø1.5, M8x1
complete made of SS

SO51124-1.5-M8x1-D
 s_datasheet
Thermoelementverschraubung 

5000035445
Omega

8 1 KT Linsenschraube ISO7045-H-M2x10-A2
A2
 

5000018849

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:1 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Glass bead blasted.
UHVR

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079076 Datum
Date

Name

Benennung / Name:               
.

FM1 unit POLYX
Modell:
Model:
ASSEM

Filename: 466-04-12-02-00-FM1-POLYX gezeichn.
14.09.2020 friedmann

10215555 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-12-02-00-FM1-POLYX geprueft
schmidt

10215556 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-12-02-00 A Of   1
Size A1

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215556 

tack
welded

2x
Fiducial X-, Y-, Z-offset

(6
.
9)
 
 
 
 
 
 
 
 
 
 

(
a
p
p
r
o
x
.
 
3
m
a
r
d
)

          (13.9)
( approx. 6mrad)

(45)

(46.3)
(Incoming Beam)

(1
5
)

(1
.
5)

(8
0
)

(80)

(27.5) (27.5) (105)

(1
0
5)

A

B

1
4
1/
B

01

02

03

141/B

a1
a1

141/B
T/08

Y

04

141/B

X05.01

0
5
.
0
2

05
.0
3

06
.0
1 06.03

0
6
.
0
2

Z

(3
6
.
1)

(
I
n
c
o
m
i
n
g
 
B
e
a
m
)

(
1
1
4
.
3)

(
1
1
4
.
3)

149

(90)

BEAM

A-A

C-C

1:2

Permanent identification
at the entrance flange:
466-04-12-02-00/SN

SN=Serial Number
 



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

H H

G G

F F

E E

D D

C C

B B

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, 
wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe 
enthalten.
Printed copies of this drawing are in change management only, 
if they additionally contain the green stamp releasing them for 
production.

3
1

2
1

4
1

5
2

6
1

19
10

7
1

9
3

14
6

10
1

11
1

12
1

13
2

1
1

20
2

8
1

15
4

16
10

17
4

18
6

0.3 A
When the absorber
is extended.

1 1 FBg Absorber Holder/Cooler
 

466-04-12-13-00 s_list
  

5000080600
FMB

2 1 FBg Manipulator
 

466-04-12-33-00 s_list
  

5000079080
FMB

3 1 FBg Basis Flange 725-43-01-00 s_list
  

5000054298
FMB

4 1 FT Actuator Plate
 

725-42-01 3.2315 AlMgSi1
Bl 102x84 12

5000054103
FMB

5 2 FT Elbow
 

725-42-02 1.4301 X5CrNi18-10
Ro 8x1 73

5000054111
FMB

6 1 FT Protective Cover 725-43-03 3.2315 AlMgSi1
Bl 2 329x193

5000054305
FMB

7 1 FT Protective Cover 725-43-05 3.2315 AlMgSi1
Bl 2 173x193

5000054306
FMB

8 1 FT Protective Sheet 725-43-06 1.4301 X5CrNi18-10
Bl 2 122x14

5000054326
FMB

9 3 FT Column 725-43-07
-

1.4301 X5CrNi18-10
Rd 12 207

5000054302
FMB

10 1 FT Cooling Hose
PA12PH-Tecalan, transparent

726-02-01-90 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Schlauch 8x1 

5000075626
FMB

11 1 FT Cooling Hose
PA12PH-Tecalan, transparent

726-02-01-91 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Schlauch 8x1 

5000075627
FMB

12 1 FT Joint Holder 726-02-10-04  304
Bl 3 51x64

5000075625
FMB

13 2 KT Winkelverschraubung
 

SS-8M0-9
Stainless_Steel
 

5000025610
Swagelok

14 6 KT Sechskantmutter
 

ISO4032-M8-A4-80_gal_Ag
 A4-80_gal_Ag
 

5000005187

15 4 KT Zylinderschraube ISO4762-M6x25-A2
 A2
 

5000035031

16 10 KT Scheibe
 

ISO7089-4-A2
A2
 

5000007036

17 4 KT Scheibe
 

ISO7089-6-A2
A2
 

5000007038

18 6 KT Scheibe
 

ISO7089-8-A2
A2
 

5000007040

19 10 KT Halbrundschraube ISO7380-M4x10-A2
 A2
 

5000019426

20 2 KT Gerade Reduzierverschraubung
 

SS-10M0-6-8M
Stainless_Steel
 

5000025568

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Pruefspezifikation / test specification
Heat absorber

Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

Bake-out cycle with RGA (1-100 AMU):
 Temperature
 Time
 RGA: Sum of all AMU >28 (except 44) 
 must be less than 1% of total pressure
 

 
max. 250

>24
 

         passed
 
 
 

 
°C
hours
 
 

Final pressure 
 

 <5x10E-10 mbar

He-leaktest:
 Before bake-out at room temperature:
 After bake-out at room temprature:
 (Cooling cycles have to be filled with 
 ~10bar Helium)

 
<1x10E-10
<1x10E-10

 
mbar l/s 
mbar l/s 

Desorption rate <1x10E-12 mbar l/s cm²

inner surface 1100 cm²

Water pressure test
 Total test time
 Intervals of recording
No evidence of water leakage:

16
30
5

bar
min
min
    passed

Flow rate:
Pressure drop:

5.1
 ? (to be added)

l/min
bar

Dimensional test (see drawing):
(room temp. 23±3°C)
 

         passed

Visual internal and external inspection:          passed

Functional test                     passed

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 3:5 Mass.:7.234 kgOberflaechenbehandlung / Surface treatment

UHVR
Werkstoff: s_list
Raw Mat.:  

Artikel: 5000079081 Datum
Date

Name Benennung / Name:               
.

Heat absorber
 

Modell:
Model:
ASSEM

Filename: 466-04-12-03-00-HEAT-ABSORBER gezeichn.
12.10.2020 Schmidt

10223802 B 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-12-03-00-HEAT-ABSORBER geprueft
Schmidt

10223803 B 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-12-03-00 B Of   1
10223803 B 01 Klingengeometri 23.11.2020 Size A1
Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215615 

Pruefspezifikation / Test specification

Test Specification

metr. Vermessung Pruefmaße

He-Lecktest / Leakage test <5 E-10 mbar l/s

Bake out, outgassing and RGA <1 E-12 mbar l/s cm²

Base pressure <5 E-10 mbar

Drucktest / Pressure test 15/30 bar/min

Position of labeling:
466-04-12-03-00 

Serial-No: ...

B-B

(5
0
8
.
5)

(2
4
)

(100)

(58) (36)

(3
2
7
.
6)

(3
2
7
.
6)

(2
0
.
5)

(59)

(32)

(165)

(1
2
7)

(1
1
)

(1
1)

(5
6)

(2
0
.
5)

(6
.
9)

(3
5
4
.
9)

(1
3
9
.
5)

(65.7)

(57)

(0
.
7
5)

(5
)

(3
0
)

(6
0
)

(4
)

(5
)

(36.3)

A

B

01

a
1

1
4
1/

T
/
0
8
 
t
a
c
k
 
w
e
l
d
e
d

03

s1 141/
T/01

a
1

1
4
1/

T
/
0
8

a
1

1
4
1/

T
/
0
8

a
1

1
4
1/

T
/
0
8
 
t
a
c
k
 
w
e
l
d
e
d

a1
a1

141/
T/08 tack welded

02

(1
0
5)

8
Air Pressure
Quick Star Connector

(
8
)

 

1
2
5
.
5

0
.
2

48.5

( (114))

8
5
.
5



 

Solaris Standars & Recommended Practices  

Front end components for BM source 
fixed mask and absorbers 

Page 8 of 22 

Date 15.05.2024 

Final Version: 2.0 

 
 

2.2 The SLITS unit 

 

 

 



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

H H

G G

F F

E E

D D

C C

B B

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, 
wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe 
enthalten.
Printed copies of this drawing are in change management only, 
if they additionally contain the green stamp releasing them for 
production.

1
1

3
4

11
4

15
1

18
1

19
1

20
4

18
1

23
1

23
1

16
1

16
1

5
1

4
1

6
1

7
1

16
2

23
1

23
1

17
1

21
4

22
4

8
1

9
4

10
1

12
1

13
4

14
1

14
1

10
1

14
1

10
1

17
2

17
2

17
2

17
2

 
 
 
 
 
 
(1
5)

b
e
a
m
 
s
i
z
e

3
m
r
a
d

(30)     
beam size
6mrad

1 1 FBg Slit chamber 466-04-32-01-00 s_list
 

5000079212
FMB

2 1 FBg Support 466-04-32-02-00 s_list
 

5000079229
FMB

3 4 FBg Blade unit 466-04-32-21-00 s_list
 

5000079224
FMB

4 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-32-01 (-)
TR 10 / 8 w nf, No: 2.477931.1

 PA
Hose 10x1 1010

5000079893
Tecalan

5 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-32-02 (-)
TR 10 / 8 w nf, No: 2.477931.1

 PA
Hose 10x1 973

5000079894
Tecalan

6 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-32-03 (-)
TR 10 / 8 w nf, No: 2.477931.1

 PA
Hose 10x1 1007

5000079895
Tecalan

7 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-32-04 (-)
TR 10 / 8 w nf, No: 2.477931.1

 PA
Hose 10x1 1415

5000079896
Tecalan

8 1 KBg CF35 Set (6xBolt/6xNut)
Bolts Ag

CF035-SBN_A4-80
A4-80
ISO4014-M6x35, ISO4032-M6 

5000026138
-

9 4 KBg CF063 Set (8xBolt/8xNut)
Bolts Ag

CF063-SBN_A4-80
A4-80
ISO4014-M8x50, ISO4032-M8 

5000026140
-

10 3 KBg CF150 Set (20xBolt/20xNut)
Bolts Ag

CF150-SBN_A4-80
A4-80
ISO4014-M8x60, ISO4032-M8 

5000026142
-

11 4 KBg 1.5" Nest, M6
Free issue part.

5000056859
Solaris

12 1 KT CF-Dichtung CF035-D_OFHC_w
 OFHC-Cu
 

5000002860

13 4 KT CF-Dichtung CF063-D_OFHC_w
 OFHC-Cu
 

5000002863

14 3 KT CF-Dichtung CF150-D_OFHC_w
 OFHC-Cu
 

5000002867

15 1 KT Ion Pump 300l/s, tall profile 300T-DI-8S-SC-220-N
 s_datasheet
 

5000077719
GammaVacuum

16 4 KT Gerade Verschraubung
Tube OD. 10

SS-10M0-6
Stainless Steel
 

5000025562
Swagelok

17 9 KT Stützhülse
f. ø10x1

SS-10M5-8M
 Stainless_Steel
 

5000044204
SWAGELOK

18 2 KT CF-Reduzierfl. mit Fase CF_150_063_ZRC_316LN_ESR
 316LN_ESR
 

5000026828
Trinos

19 1 KT UHV-Eckventil DN40CF 54132-GE02
s_datasheet
 

5000052921
VAT

20 4 KT Kugelscheibe
 

DIN6319-C13-A2
A2
 

5000006981

21 4 KT Kegelpfanne
 

DIN6319-D14.2-A2
A2
 

5000006993

22 4 KT Sechskantmutter
 

ISO4032-M12_A4
 A4
 

5000005099

23 4 KT Winkelverschraubung
 

SS-10M0-9
Stainless Steel
 

5000025564

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079211 Datum
Date

Name

Benennung / Name:               
.

Movable aperture unit
Modell:
Model:
ASSEM

Filename: 466-04-32-00-MOVABLE-APERTURE gezeichn.
14.08.2020 Friedmann

10220200 B 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-32-00-MOVABLE-APERTURE geprueft
Schmidt

10220201 B 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-32-00 B Of   1
10220201 B 01 Fittings 07.10.2020 Size A1
Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10216106 

1:10

BEAM

1st blade
manipulator

2nd blade manipulator

3rd blade manipulator

4th blade manipulator

2:5

max. OPENING max. OVERLAP

2:5

Fiducial X, Y, Z offset

centre between 1st
and 4th blade

D-D
9:50

1st blade

2nd blade

3rd blade

4th blade

(794)

(1
3
9
.
5)

(1
5
1
.
4
4
1)

(372)

(574)

(427)

(190)

(9
4
0
)

(1
0
8
5)

(1
4
5
1
.
4
4
1)

(620)(360)

(300) (440)

(802.4)

0,1 A

BB

B B

B

B

B

Y

A

0,1 A

0,1 A

0,1 A

03

02

04
01

05.01

05.03

05.02 X

Z

06.01

06.03

06.02

07.01

07.03

07.02

08.01

08.03

08.02

BEA
M

( 153)
inner chamber

 

7          
max. overlap
1st blade

         16
max. opening

1st blade

16         
max. opening
2nd blade

 
 
 
 
 
 
 
 
 
1
6

m
a
x
.
 
o
p
e
n
i
n
g

4
t
h
 
b
l
a
d
e

1
6 
 
 
 
 
 
 
 
 

m
a
x
.
 
o
p
e
n
i
n
g

3
r
d
 
b
l
a
d
e

          7
max. overlap

2nd blade

7
 
 
 
 
 
 
 
 
 
 

m
a
x
.
 
o
v
e
r
l
a
p

3
r
d
 
b
l
a
d
e

 
 
 
 
 
 
 
 
 
 
7

m
a
x
.
 
o
v
e
r
l
a
p

4
t
h
 
b
l
a
d
e

1
3
0
0

(1
8
0
0)

(305.5)

(273.5)

(9
5)

(9
5)

(9
5)

(9
5)

(236.5)

(182)

(237)

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße)

He-Lecktest/Leakage test <5 E-10 mbar l/s



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

1
1

2
1

3
1

4
1

5
4

6
4

8
3

9
3

11
8

12
6

13
3

7
3

10
3

1 1 FBg Base frame
 

466-04-32-12-00 s_list
 

5000079215
FMB

2 1 FBg Pump Stage
Usable to install in Frames to exchange Ion Pumps.

716-39-00 s_list
 

5000035583
FMB

3 1 FBg Water Flow Unit 726-02-61-01-00 s_list
 

5000075703
FMB

4 1 FT Bolt plate
 

466-04-32-02-01  304
 

5000079233
FMB

5 4 KT Threaded Rod DIN975-M12x125-A4-80
 A4-80
Gewindestange M12 125

5000041513

6 4 KT Kugelverstell-Schraube
-

KVS30-17,5
1.7225 42CrMo4
 

5000027365
WASI

7 3 KT Gewindebolzen M6 (stud bolt) 02341618
 St_gal_Zn
 

5000034218
Wuerth

8 3 KT Wuerth-Kunststoffclip
Mat: PPH

0544 900 008
 s_datasheet
 

5000034184
Wuerth

9 3 KT T-Nutenstein DIN508-M12x14-A2
 A2
 

5000035941

10 3 KT Scheibe
 

DIN7349-12-A4
 A4
 

5000039140

11 8 KT Zylinderstift
 

ISO2338-5m6x14-A2
 A2
 

5000022167

12 6 KT Sechskantschraube (ger.)
abgerundet mit R25

ISO4017-M10x50-A4-80
 A4-80
 

5000044885

13 3 KT Sechskantschraube
 

ISO4017-M12x50-A2
 A2
 

5000011640

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:10 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079229 Datum
Date

Name

Benennung / Name:               
.

Support
Modell:
Model:
ASSEM

Filename: 466-04-32-02-00-SUPPORT gezeichn.
14.10.2020 Schmidt

10216154 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-32-02-00-SUPPORT geprueft
Schmidt

10216161 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-32-02-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10216161 

B-B
1:5

Auszugrichtung "Pump stage"
pull-out direction "Pump stage"

(1
2
1
0)

(660)

(260)(544)

5
1
4
.
5

(1
0
0
0)

(440)

(3
0
0)

(
20
)

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße) - -

Drucktest / Pressure test 15/30 bar/min

Durchflusstest / Flowrate Istwert messen l/min

He-Lecktest/Leakage test <5 E-10 mbar l/s

- - -



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

He-Lecktest/Leakage test <5 E-10 mbar l/s

Drucktest / Pressure test 15/30 bar/min

2 1 FBg Cooled blade 466-04-32-21-02-00 s_list
 

5000079223
FMB

1
1

2
1

3
1

4
1

1 1 FBg Linear feedthrough LD63-25 RESOLUTE284-31-00 s_list
 

5000079414
FMB

3 1 KBg CF063 Set (8xBolt/8xNut)
Bolts Ag

CF063-SBN_A4-80
A4-80
ISO4014-M8x50, ISO4032-M8 

5000026140
-

4 1 KT CF-Dichtung CF063-D_OFHC_w
 OFHC-Cu
 

5000002863

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 2:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079224 Datum
Date

Name

Benennung / Name:               
.

Blade unit
Modell:
Model:
ASSEM

Filename: 466-04-32-21-00-BLADE-UNIT gezeichn.
14.08.2020 friedmann

10220185 B 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-32-21-00-BLADE-UNIT geprueft
schmidt

10220186 B 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-32-21-00 B Of   1
10220186 B 01 Fitting 06.10.2020 Size A3
Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10216144 

1:5

 Identification at this flange position:
 466-04-32-21-00 Serial-No: ... 
 
 Blade no. 1 ... 4

P
o
s
i
t
i
o
n
 
o
p
e
n
:
 
1
1
9
 
0
.
1

P
o
s
i
t
i
o
n
 
c
l
o
s
e
d
:
 
1
4
3
 
0
.
1

(268.4) (171.2)

(4
0
5)

(1
4
3)

(1
3
0)

A0,0801 02

A

1
4
3

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße)

Durchflusstest / Flowrate Istwert messen l/min



 

Solaris Standars & Recommended Practices  

Front end components for BM source 
fixed mask and absorbers 

Page 12 of 22 

Date 15.05.2024 

Final Version: 2.0 

 
 

2.3 The fluorescent screen (FLSC), cooling safety shutter-stoppers (SS1 

& SS2) and fixed mask2 (FM2) 

 

 

 



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 
I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 

N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 
D
r
i
t
t
e
 
o
h
n
e
 

s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

M M

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

0

0

11 2 FT Cooling Pipe
 

726-65-10
-

2.0090 SF-Cu
Ro 10x1 339

5000056754
FMB

12 7 KBg CF35 Set (6xBolt/6xNut)
Bolts Ag

CF035-SBN_A4-80
A4-80
ISO4014-M6x35, ISO4032-M6 

5000026138
-

13 1 KBg CF063 Set (8xBolt/8xNut)
Bolts Ag

CF063-SBN_A4-80
A4-80
ISO4014-M8x50, ISO4032-M8 

5000026140
-

5
1

6
2

3
1

2
1

1
1

9
1

17
4

24
1

29
1

14
1

15
1

22
1

20
1

26
1

4
1

8
1

30
6

25
1

11
1

10
1

11
1

19
1

7
1

21
1

27
1

27
1

28
1

18
1

16
1

23
1

22
1

23
2

16
2

23
1

16
1

19
1

19
1

32
12

31
6

22
1

19
2

12
1

12
1

19
1

12
1

13
1

19
1

19
2

12
4

1 1 FBg Support 466-04-42-01-00 s_list
 

5000079060
FMB

2 1 FBg Safety Shutter Chamber 466-04-42-02-00 s. list
 

5000079061

3 1 FBg Fluorescent Screen Actuator 466-04-42-03-00 s_list
 

5000079068
FMB

4 1 FBg FM2 unit POLYX 466-04-42-04-00 s_list
 

5000079183
FMB

5 1 FBg Pump Stage
Usable to install in Frames to exchange Ion Pumps.

716-39-00 s_list
 

5000035583
FMB

6 2 FBg Saftey Shutter Actuator 726-61-00 s_list
 

5000056222
FMB

7 1 FBg Hydro-formed Bellows CF40F/CF40R
---

726-88-00
---

s_list
 

5000057020
FMB

8 1 FBg CF-Tube
CF35F CF35R L339 304L

778-20-20-339
CFT35F-35R-339-304L

 316L/ 304L
 

5000071474
FMB

9 1 FT Cooling Pipe
 

466-04-42-01 2.0090 SF-Cu
Ro 10x1 1648

5000079238
FMB

10 1 FT Cooling Pipe
 

726-02-60-11 2.0090 SF-Cu
Ro 10x1 565

5000075646
FMB

14 1 KBg CF063 Set (8xSetscrew/16xNut)
Bolts Ag

CF063-SS2N_A4-80
A4-80
ISO4766-M8x60, ISO4032-M8 

5000026167
-

15 1 KBg CF063 Set (8xSetscrew/8xNut)
Bolts Ag

CF063-SSN_A4-80
A4-80
ISO4766-M8x45, ISO4032-M8 

5000026160
-

16 4 KBg CF150 Set (20xBolt/20xNut)
Bolts Ag

CF150-SBN_A4-80
A4-80
ISO4014-M8x60, ISO4032-M8 

5000026142
-

17 4 KBg 1.5" Nest, M6
Free issue part.

5000056859
Solaris

18 1 KBg T-Stück DN35CF
1x rotatable flange per axis.

420RTS040
304L
 

5000031349
TRINOS

19 9 KT CF-Dichtung CF035-D_OFHC_w
 OFHC-Cu
 

5000002860

20 1 KT CF-Blindflansch, fest CF035-FB_304L
 304L
 

5000004579

21 1 KT CF-Fensterflansch
fused silica

CF035-FF_304L/Quarz
 304L
 

5000004538

22 3 KT CF-Dichtung CF063-D_OFHC_w
 OFHC-Cu
 

5000002863

23 4 KT CF-Dichtung CF150-D_OFHC_w
 OFHC-Cu
 

5000002867

24 1 KT Ion Pump 500l/s, tall DI, 230V heater500T-DI-8S-SC-220-N
 s_datasheet
 

5000073613
GammaVacuum

25 1 KT HAL Residual Gas Analyser
remote RF head including 3 m cable set for HAL 101 RC

HAL 101-RC type 144010
 s_datasheet
 

5000080177
Hiden

26 1 KT UHV-Schieber CF63, rad. resistant 24VDC48236-CE44-AHJ1
s_datasheet
 

5000075446
VAT

27 2 KT UHV-Eckventil DN40CF 54132-GE02
s_datasheet
 

5000052921
VAT

28 1 KT UHV-Eckventil DN63CF 54136-GE02-0001
s_datasheet
 

5000026645
VAT

29 1 KT FMB Typenschild
Blank, engraved by FMB.

 Al
 

0000028574

30 6 KT Sechskantschraube ISO4014-M6x50-A4-80_gal_Ag
 A4-80_Ag
 

5000010927

31 6 KT Sechskantmutter
 

ISO4032-M6-A4-80
 A4-80
 

5000005156

32 12 KT Scheibe
 

ISO7089-6-A4
 A4
 

5000025662

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Pruefspezifikation / test specification
 Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

Bake-out cycle with RGA (1-100 AMU):
 Temperature
 Time
 RGA: Sum of all AMU >28 (except 44) 
 must be less than 1% of total pressure
 

 
max. 250

>24
 

         passed
 
 
 

 
°C
hours
 
 

Final pressure 
 

 <1x10E-10 mbar

He-leaktest:
 Before bake-out at room temperature:
 After bake-out at room temprature:
 (Cooling cycles have to be filled with 
 ~10bar Helium)

 
<1x10E-10
<1x10E-10

 
mbar l/s 
mbar l/s 

Desorption rate <1x10E-12 mbar l/s cm²

inner surface 28.200 cm²

Water pressure test
 Total test time
 Intervals of recording
No evidence of water leakage:

16
30
5

bar
min
min
    passed

Flow rate:
Pressure drop:

3.4
 ? (to be added)

l/min
bar

Air pressure test:
Test of tightness.

 
 passed

Dimensional test (see drawing):
(room temp. 23±3°C)
 

         passed

Visual internal and external inspection:          passed

Functional test under vacuum:
- Thermocouple (comparison measurement)
- Set up limit switches acc. to stroke
- Drive over total stroke
- Function of Counter

 
 passed
 passed
 passed
 passed

Note for storage und shipping:
Chamber covered with plastic flanges.

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:5 Mass.:366.984 kgOberflaechenbehandlung / Surface treatment

.
Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079058 Datum
Date

Name

Benennung / Name:               
.

SS & FM2 Unit
Modell:
Model:
ASSEM

Filename: 466-04-42-00-SS-FM2-UNIT gezeichn.
16.09.2020 Schmidt

10220158 B 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-42-00-SS-FM2-UNIT geprueft
Schmidt

10220159 B 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-42-00 B Of   1
10220159 B 01 valve orient. 06.10.2020 Size A0
Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215465 

BEAM

BEAM

Saftey Shutter Actuator
2x open

Fluorescent Screen Actuator
1x open

1:5
Not intended for permanent
pump support.
Pump stage has to be free of
load during operation.

(Ø8)
Compressed
Air

4x (Ø8x1)
Compressed

Air

x

Flowmeter, G1/2",
VA, 2.0-7.0l/min

PKP
DS02.2.2.1.W27.1.1.0

1/2" Needle Valve
PKP

SNV02.G.1.1.15.2

Main Compressed
Air Connector
Festo
CK-1/2-PK-13 (4098)
 

(Ø8x1)
Compressed Air

View Port
DN40 CF

Saftey Shutter Actuator 
2x closed

Fluorescent Screen Actuator 
1x closed

A-A

x
1:1

View from the source
at the Fluorescent Screen.

B-B

3:10

Safety Shutter Actuator
Fluorescent Screen Actuator

3:10

( 10)
Cooling
Water

( 10)
Cooling
Water

(1
3
0
0)

(2
0
9
.
5)

(1
2
0
0)

(1
2
2
1
.
3)

(2
0
7
3)

(130) (90) (220)

(240) (486.5)

(4
5
)

(8)

(2
1
5)

(590)

(205)

(958.5)

(437)

(2
2
1
.
4
4
1)

(8)

(170)

( )5

(1
8
.
3)

B
e
a
m
 
1
s
t
 
A
p
e
r
t
u
r
e

3
m
r
a
d

(36.6)
Beam 1st Aperture

6mrad

(2
1
5)

(2
0
9
.
5)02

01

03

05

06

04

direction of pump stage movement07

B

( )10
( )15

51
0
1
5

2
5
2
0

(6
0
)

s
t
r
o
k
e

3
7

2
3
.
5

(6
0
)

s
t
r
o
k
e

(75)

(12)

1
9
0

( 65)
Tungsten

(39)  
6mrad

(1
9
.
5)

3
m
r
a
d

(1
9
0)

(8)(36.6)
6mrad

(1
8
.
3)

3
m
r
a
d



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

H H

G G

F F

E E

D D

C C

B B

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, 
wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe 
enthalten.
Printed copies of this drawing are in change management only, 
if they additionally contain the green stamp releasing them for 
production.

4
1

12
1

16
1

17
1

22
1

29
2

12
1

20
1

10
1

13
1

15
1

19
1

22
2

9
1

2
1

1
1

3
1

5
4

8
1

23
2

28
6

30
4

21
1

23
1

6
1

7
1

14
1

18
1

9
1

9
1

9
1

9
1

7
1

7
1

7
1

21
1

31
6

33
4

34
2

36
4

38
6

9
1

9
1

37
2

21
2

24
4

25
8

26
8

27
4

32
12

35
4

21
2

23
1

21
1

11
1

1 1 FBg Frame 466-04-42-11-00 s_list
 

5000079059
FMB

2 1 FBg Water Flow Unit 726-02-61-01-00 s_list
 

5000075703
FMB

3 1 FT Bolt Plate
 

466-04-42-01-01  304
 

5000079194
FMB

4 1 FT Head Plate
 

716-49-04 1.4301 X5CrNi18-10
Bl 3  

5000036328
FMB

5 4 KT Threaded Rod DIN975-M16x130-A4-80
 A4-80
Gewindestange M16 130

5000041532

6 1 KT Blindstopfen, Plug
AG G1/2", PE:10

B-1/2, (3571)
 St
 

5000057007
Festo

7 4 KT Blindstopfen, Plug
AG G1/4", PE:10

B-1/4, (3569)
 St
 

5000057008
Festo

8 1 KT Schnellverschraubung / Quick Fitting
AG G1/2, Hose-ID.13, <10bar

CK-1/2-PK-13 (4098)
Aluminium
 

5000056905
Festo

9 7 KT Schnellverschraubung / Quick Fitting
AG G1/4, Hose-ID.6, <10bar, PE:10

CK-1/4-PK-6 (2030)
Aluminium
 

5000056997
Festo

10 1 KT Air Accumulator
 

CRVZS-2, 160236
 Stainless_Steel
Druckspeicher 

5000035590
Festo

11 1 KT Blindstopfen / Plug
ID. 6, <10bar, PE:10

CV-PK-6-B, (6215)
Polyurethan
 

5000057016
Festo

12 2 KT Reduziernippel
D-1/4"i-1/2"a

D-1/4I-1/2A
 CuZn
 

5000035748
Festo

13 1 KT Reduziernippel
D-3/8"i-1/2"a

D-3/8I-1/2A
 CuZn
 

5000035591
Festo

14 1 KT Verteilerblock, Distributor
2x IG G1/2", 8x IG G1/4"

FR-8-1/4, (2078)
 Al
 

5000057004
Festo

15 1 KT Rueckschlagventil H-3/8-B, 11690
 Al
 

5000035593
Festo

16 1 KT Service Unit / Wartungsgeraete-Kombi.
1/2", Valve, Pressure regulation, Filter 40µm, Condensate drain, Pres. switch

MSB6-1/2:C3:J2:F3-WP (542276)
 Al
 

5000055367
Festo

17 1 KT Steckdose (Power Socket)
250V, for Pressure switch PEV...OD...

MSSD-C-4P, No: 171157
 s_datasheet
 

5000045131
Festo

18 1 KT Doppelnippel, Double Nipple
2x AG G1/2"

NPFC-D-2G-12-M, (8030277)
 CuZn
 

5000057005
Festo

19 1 KT Reduziermuffe
IG G3/8", IG G1/4", PE:10

QMR-3/8-1/4-B, (153283)
 CuZn
 

5000057006
Festo

20 1 KT FMB Beamline Aufkleber  s_list
 

5000033932
FMB

21 7 KT Gewindebolzen M6 (stud bolt) 02341618
 St_gal_Zn
 

5000034218
Wuerth

22 3 KT Wuerth-Kunststoffclip
Mat: PPH

0544 900 008
 s_datasheet
 

5000034184
Wuerth

23 4 KT Kunststoffclip, einfach
Mat: PPH

0544 900 010
 s_datasheet
 

5000034263
Wuerth

24 4 KT T-Nutenstein DIN508-M12x14-A2
 A2
 

5000035941

25 8 KT Kugelscheibe
 

DIN6319-C17-A2
A2
 

5000006983

26 8 KT Kegelpfanne
 

DIN6319-D19-A2
A2
 

5000006995

27 4 KT Scheibe
 

DIN7349-12-A4
 A4
 

5000039140

28 6 KT Sechskantschraube (ger.)
abgerundet mit R25

ISO4017-M10x50-A4-80
 A4-80
 

5000044885

29 2 KT Sechskantschraube
 

ISO4017-M12x100-A2
 A2
 

5000011647

30 4 KT Sechskantschraube
 

ISO4017-M12x50-A2
 A2
 

5000011640

31 6 KT Sechskantmutter
 

ISO4032-M12_A4
 A4
 

5000005099

32 12 KT Sechskantmutter
 

ISO4032-M16_A4
 A4
 

5000005101

33 4 KT Zylinderschraube ISO4762-M6x14-A2
 A2
 

5000053457

34 2 KT Zylinderschraube ISO4762-M8x12-A2
 A2
 

5000013637

35 4 KT Scheibe
 

ISO7089-16-A2
A2
 

5000007044

36 4 KT Scheibe
 

ISO7089-6-A2
A2
 

5000007038

37 2 KT Scheibe
 

ISO7089-8-A2
A2
 

5000007040

38 6 KT Scheibe
 

ISO7093-12-A2
A2
 

5000007235

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

VORR
Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079060 Datum
Date

Name

Benennung / Name:               
.

Support
Modell:
Model:
ASSEM

Filename: 466-04-42-01-00-SUPPORT gezeichn.
16.09.2020 Friedmann

10215457 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-42-01-00-SUPPORT geprueft
Schmidt

10215458 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-42-01-00 A Of   1
Size A1

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215458 

Z

Z
2:5

(480)

(1
1
0)

(260)

(280)

(2
6
5)

(240)

(437)

(616)

(8
3
3)

(1
2
6
2)

(360)

1
2
2
1
.
3
1
5

1
2
0
0

1
5

3
4
0

200

1:5



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

2
1

1
1

3
2

4
2

6
4

8
2

9
2

7
2

5
1

10
6

1 1 FBg Screen Holder
 

466-04-42-13-00 s_list
   

5000079066
FMB

2 1 FBg Shutter Actuator 726-01-00 s_list
 

5000056197
FMB

3 2 FT Elbow
 

726-31-01 1.4571 X6CrNiMoTi17-12-2
Ro 8x1 124

5000056210
FMB

4 2 FT Cooling Hose
PA12PH-Tecalan, transparent

726-31-02 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Schlauch 8x1 650

5000056221
FMB

5 1 KT CF-Dichtung CF035-D_OFHC_w_gal_Ag
 OFHC-Cu
 

5000002886

6 4 KT Sechskantschraube
entlueftet

ISO4017-M6x22-A2_E_Ag
 A2_Ag
 

5000011925
ALMA

7 2 KT Zylinderschraube
entlueftet

ISO4762-M6x22-A2_E_Ag
 A2_Ag
 

5000014472
ALMA

8 2 KT Gerade Verschraubung
 

SS-8M0-6
Stainless_Steel
 

5000025608
Swagelok

9 2 KT Winkelverschraubung
 

SS-8M0-9
Stainless_Steel
 

5000025610
Swagelok

10 6 KT Scheibe
 

ISO7089-6-A2
A2
 

5000007038

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Pruefspezifikation Zwischentest /
Interim test specification

Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

He-leaktest
at room temperature

<1x10E-10 mbar l/s 

Water pressure test 16 bar for 30min

Air pressure test 8 bar

Dimensional test (see drawing):
(room temp. 23±3°C)

 passed

Function test,
visual inspection

Movement
Adjustment of Limit Switches

Electrical Wiring
 

 passed

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 2:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

UHVR
Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079068 Datum
Date

Name

Benennung / Name:               
.

Fluorescent Screen Actuator
Modell:
Model:
ASSEM

Filename: 466-04-42-03-00-SCREEN-ACTUATOR gezeichn.
14.08.2020 friedmann

10215488 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-42-03-00-SCREEN-ACTUATOR geprueft
schmidt

10215489 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-42-03-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215489 

BEAM

Identification at this flange position:
466-04-42-03-00  Serial-No: ... 

3:10

8
Air Pressure 5-8bar
CK- Connector
for Tube Ø8x1

0.6 A
horizontal

10
Cooling Water max. 10bar
Swagelok Connector
for Tube Ø10x1

(141.2)

(36.6)

(1
8
.
3)

(60)

(3
1
.
8)

(2
3)

A

03

0102

1
9
0

 
P
o
s
i
t
i
o
n
 
I
n
:
 
1
3
0
 
±
1
.
0

 
P
o
s
i
t
i
o
n
 
O
u
t
:
 
1
9
0
 
±
0
.
2
*

 
*
)
 
M
a
s
s
g
e
b
e
n
d
 
i
s
t
 
d
a
s
 
F
a
d
e
n
k
r
e
u
z

 
 
 
T
h
e
 
c
r
o
s
s
h
a
i
r
s
 
a
r
e
 
d
e
c
i
s
i
v
e
 
 
 



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

1
1

2
1

3
1

4
2

5
2

6
4

11
4

12
4

13
2

14
6

9
210

2

7
1

8
6

14
2

1 1 FBg Shutter Actuator 726-01-00 s_list
 

5000056197
FMB

2 1 FBg Absorber
 

726-61-01-00 s_list
   

5000056230
FMB

3 1 FBg Tungsten Block
 

726-61-02-00 s_list
 

5000056236
FMB

4 2 FT Elbow
 

726-31-01 1.4571 X6CrNiMoTi17-12-2
Ro 8x1 124

5000056210
FMB

5 2 FT Cooling Hose
PA12PH-Tecalan, transparent

726-31-02 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Schlauch 8x1 650

5000056221
FMB

6 4 FT Hollow Shaft
 

726-61-01  304L
Ro 13.5x2.6 57

5000056241
FMB

7 1 KT CF-Dichtung CF035-D_OFHC_w_gal_Ag
 OFHC-Cu
 

5000002886

8 6 KT Sechskantschraube
entlueftet

ISO4017-M6x22-A2_E_Ag
 A2_Ag
 

5000011925
ALMA

9 2 KT Gerade Verschraubung
 

SS-8M0-6
Stainless_Steel
 

5000025608
Swagelok

10 2 KT Winkelverschraubung
 

SS-8M0-9
Stainless_Steel
 

5000025610
Swagelok

11 4 KT Sicherungsblech DIN463-A8.4_A2
 A2
 

5000030128

12 4 KT Sechskantmutter ISO4032-M8_A4_AG
 A4_Ag
 

5000005247

13 2 KT Zylinderschraube ISO4762-M6x22-A2_gal_Ag
 A2_Ag
 

5000014595

14 8 KT Scheibe
 

ISO7089-6-A2
A2
 

5000007038

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 2:5 Mass.:0.000 kgOberflaechenbehandlung / Surface treatment

UHV cleaned / UHV-gereinigt.
Werkstoff: s_list
Raw Mat.: 

Artikel: 5000056222 Datum
Date

Name

Benennung / Name:               
.

Saftey Shutter Actuator
Modell:
Model:
ASSEM

Filename: 726-61-00-SHUTTER-ACTUATOR gezeichn.
20.02.2014 henninger

10081968 A 01 drawn by

Zeichn.:
Drawing:

Filename: 726-61-00-SHUTTER-ACTUATOR geprueft
henninger

10081969 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

726-61-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10081969 

Pruefspezifikation Zwischentest /
Interim test specification

Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

He-leaktest
at room temperature

<1x10E-10 mbar l/s 

Water pressure test 16 bar for 30min

Air pressure test 8 bar

Dimensional test (see drawing):
(room temp. 23±3°C)

 passed

Function test,
visual inspection

Movement
Adjustment of Limit Switches

Electrical Wiring
 

 passed

BEAM

1:5

Identification at that flange position:
726-61-00  Serial-No: ... 

8
Air Pressure 5-8bar
CK- Connector
for Tube Ø8x1

2 A

10
Cooling Water max. 10bar
Swagelok Connector
for Tube Ø10x1

(141.2)

(39)

(1
9
.
5)

( 65)
Tungsten

(95)

(3
6
.
5)

(52)

A

03

0102

1
9
0

P
o
s
i
t
i
o
n
 
I
n
:
 
1
3
0
 
±
1
.
0

 
P
o
s
i
t
i
o
n
 
O
u
t
:
 
1
9
0
 
±
0
.
2

(75)
Tungsten



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

7
0
x3

4
2
.
4x
3
.
2

( 10)

1
2

2
1

4
1

3
1

5
1

6
1

7
1

8
2

9
1

10
1

11
1

12
1

110 0.3

0.1

      (2)
allowance

(2)      
allowance

0.2 A B

0.2 A B

Pruefspezifikation / test specification
 Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

Bake-out cycle with RGA (1-100 AMU):
 Temperature
 Time
 RGA: Sum of all AMU >28 (except 44) 
 must be less than 1% of total pressure
 

 
max. 250

>24
 

         passed
 
 
 

 
°C
hours
 
 

Final pressure 
 

 <1x10E-10 mbar

He-leaktest:
 Before bake-out at room temperature:
 After bake-out at room temprature:
 (Cooling cycles have to be filled with 
 ~10bar Helium)

 
<1x10E-10
<1x10E-10

 
mbar l/s 
mbar l/s 

Desorption rate <1x10E-12 mbar l/s cm²

inner surface 200 cm²

Water pressure test
 Total test time
 Intervals of recording
No evidence of water leakage:

16
30
5

bar
min
min
    passed

Flow rate:
Pressure drop (to be messured):

3.4
 

l/min
bar

Dimensional test (see drawing):
(room temp. 23±3°C)
 

         passed

Visual internal and external inspection:          passed

Functional test under vacuum:
- Thermocouple (comparison measurement)

 
 passed

1 2 FBg Connector 722-11-05
SS-10M0-1-4W

s_list
 

5000039483
FMB

2 1 FBg Thermo Element 726-10-06 s_list
 

5000056083
FMB

3 1 FT Cu-block (FM2) 466-04-42-04-01  OFHC-Cu
Bl 42 84x84

5000079182
FMB

4 1 FT Plug 607-07-02-03  OFHC-Cu
Rd 10 6

5000048704

5 1 FT Tube 726-02-11-02  304
 47

5000075197
FMB

6 1 FT Tube 726-02-11-03  304
 

5000075198
FMB

7 1 FT Plug Holder
 

726-10-07  304L
Bl 2 21x49

5000056084
FMB

8 2 KBg 1.5" Nest, M6
Free issue part.

5000056859
Solaris

9 1 KT CF-Flansch, fest CF035-F_304L
 304L
 

5000004547

10 1 KT CF-Flansch, rot. CF063-R_304L
 304L
 

5000004597

11 1 KT Thermo Couple Joint. Ø1.5, M8x1
complete made of SS

SO51124-1.5-M8x1-D
 s_datasheet
Thermoelementverschraubung 

5000035445
Omega

12 1 KT Linsenschraube ISO7045-H-M2x10-A2
A2
 

5000018849

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 4:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Glass bead blasted.
UHVR

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079183 Datum
Date

Name

Benennung / Name:               
.

FM2 unit POLYX
Modell:
Model:
ASSEM

Filename: 466-04-42-04-00-FM2-POLYX gezeichn.
14.08.2020 friedmann

10216044 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-42-04-00-FM2-POLYX geprueft
Schmidt

10216045 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-42-04-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10216045 

D-D

Fiducial X, Y, Z offset

(45)

(1
.
6)

(8
0
)

(80)

(1
5
)

(3
6
.
4
4
1)

(10.06)

(2
.
6
8)

(6
9
.
9)

(1
6
0
.
8
4
1)

A

B
04

 s2 141/B
T/01

02

03

s
2

1
4
1/
B

T
/
0
1

924/B
HTL/2

a1 141/B
T/08 (tack welded)

924/B
HTL/2

05.01 0
5
.
0
2

05
.0
3

06.01

06
.0
3

06.02

01

50

99

(27.5)(27.5)

(
1
1
4
.
3)

BEAM

C-C

1:2

Permanent identification
at the entrance flange:
466-04-42-04-00/SN
SN=Serial Number



 

Solaris Standars & Recommended Practices  

Front end components for BM source 
fixed mask and absorbers 

Page 18 of 22 

Date 15.05.2024 

Final Version: 2.0 

 
 

2.4 The filter assembly trigger unit (FATU) 

 

 

 



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

2 1 FBg Chamber 466-04-52-02-00 s_list
 

5000079115
FMB

1
1

2
1

4
1 5

1

17
1

20
1

6
1

7
1

3
2

8
1

9
1

10
1

18
2

18
2

11
2

12
1

13
1

14
2

16
1

15
1

12
2

19
2

15
2

19
2

19
2

1 1 FBg Support 466-04-52-01-00 s_list
 

5000079190
FMB

3 2 FBg Filter unit 466-04-52-03-00 s_list
 

5000079117
FMB

4 1 FBg Be-Window 466-04-52-04-00 s_list
 

5000079367
FMB

5 1 FBg Hydro-formed Bellows CF40F/CF40R
---

726-88-00
---

s_list
 

5000057020
FMB

6 1 FT Cooling Pipe
 

466-04-52-01 2.0090 SF-Cu
Ro 10x1 1648

5000079901
FMB

7 1 FT Cooling Pipe
 

466-04-52-05 2.0090 SF-Cu
Ro 10x1 628

5000079926
FMB

8 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-52-02 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Hose 8x1 763

5000079923
Tecalan

9 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-52-03 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Hose 8x1 842

5000079924
Tecalan

10 1 FT Flexible pipe
PA12PH-Tecalan, transparent

466-04-52-04 (-)
TR 8 / 6 w nf, No: 2.477751.1

 PA
Hose 8x1 842

5000079925
Tecalan

11 2 KBg CF35 Set (6xBolt)
Bolts Ag

CF035-SB_A4-80
A4-80
ISO4017-M6x20 

5000026151
-

12 3 KBg CF063 Set (8xBolt/8xNut)
Bolts Ag

CF063-SBN_A4-80
A4-80
ISO4014-M8x50, ISO4032-M8 

5000026140
-

13 1 KBg CF150 Set (20xBolt/20xNut)
Bolts Ag

CF150-SBN_A4-80
A4-80
ISO4014-M8x60, ISO4032-M8 

5000026142
-

14 2 KT CF-Dichtung CF035-D_OFHC_w
 OFHC-Cu
 

5000002860

15 3 KT CF-Dichtung CF063-D_OFHC_w
 OFHC-Cu
 

5000002863

16 1 KT CF-Dichtung CF150-D_OFHC_w
 OFHC-Cu
 

5000002867

17 1 KT Ion Pump 300l/s, tall profile 300T-DI-8S-SC-220-N
 s_datasheet
 

5000077719
GammaVacuum

18 4 KT Gerade Reduzierverschraubung SS-8M0-6-6M
Stainless_Steel
 

5000028716
Swagelok

19 6 KT Stützhülse
f. ø8x1

SS-8M5-6M
 Stainless_Steel
 

5000057514
SWAGELOK

20 1 KT UHV-Schieber CF40 pneum., rad. resistan48132-CE44-AHJ1
 s_datasheet
 

5000073582
VAT

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:10 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079120 Datum
Date

Name

Benennung / Name:               
.

Filter & trigger unit
Modell:
Model:
ASSEM

Filename: 466-04-52-00-FATU-BW-UNIT gezeichn.
14.08.2020 friedmann

10220252 B 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-52-00-FATU-BW-UNIT geprueft
schmidt

10220253 B 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-52-00 B Of   1
10220253 B 01 piping 07.10.2020 Size A2
Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215771 

B-B

A-A
1:5

(360)

(440)

(45
)

(1
3
0
0)

(1
1
2
5)

(1
8
3
7)

(755)

(619)

(1
0
0
5)(1
2
0
0)

(567.15)

(180)

(1
4
8
3
.
4
4
1)

(164)

(260)

(300)

B

B

2
1

6

2
1

8
5

( 20)

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße) - -

Drucktest / Pressure test 15/30 bar/min

Durchflusstest / Flowrate Istwert messen l/min

He-Lecktest/Leakage test <5 E-10 mbar l/s

- - -



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

1
1

2
1

3
1

4
1

6
4

8
4

10
4

12
6

14
4

16
4

17
4

16
410

4

7
1

5
1

13
2

15
2

18
2

15
2

15
2

18
4

9
4

11
4

9
4

1 1 FBg Base frame
 

466-04-52-11-00 s_list
 

5000079186
FMB

2 1 FBg Pump Stage
Usable to install in Frames to exchange Ion Pumps.

716-39-00 s_list
 

5000035583
FMB

3 1 FBg Water Flow Unit (flow: top to down)726-02-61-03-00 s_list
 

5000080173
FMB

4 1 FT Bolt plate
 

466-04-52-01-01  304
 

5000079195
FMB

5 1 FT Head Plate
 

716-49-04 1.4301 X5CrNi18-10
Bl 3  

5000036328
FMB

6 4 KT Threaded Rod DIN975-M16x130-A4-80
 A4-80
Gewindestange M16 130

5000041532

7 1 KT FMB-Berlin Aufkleber 150x42.27 FMBB-Logo 150 x 42.27
 s_list
 

5000070945
FMB

8 4 KT T-Nutenstein DIN508-M12x14-A2
 A2
 

5000035941

9 8 KT Kugelscheibe
 

DIN6319-C17-A2
A2
 

5000006983

10 8 KT Kegelpfanne
 

DIN6319-D19-A2
A2
 

5000006995

11 4 KT Scheibe
 

DIN7349-12-A4
 A4
 

5000039140

12 6 KT Sechskantschraube (ger.)
abgerundet mit R25

ISO4017-M10x50-A4-80
 A4-80
 

5000044885

13 2 KT Sechskantschraube
 

ISO4017-M12x100-A2
 A2
 

5000011647

14 4 KT Sechskantschraube
 

ISO4017-M12x50-A2
 A2
 

5000011640

15 6 KT Sechskantmutter
 

ISO4032-M12_A4
 A4
 

5000005099

16 8 KT Sechskantmutter
 

ISO4032-M16_A4
 A4
 

5000005101

17 4 KT Scheibe
 

ISO7089-16-A2
A2
 

5000007044

18 6 KT Scheibe
 

ISO7093-12-A2
A2
 

5000007235

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:10 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079190 Datum
Date

Name

Benennung / Name:               
.

Support
Modell:
Model:
ASSEM

Filename: 466-04-52-01-00-SUPPORT gezeichn.
19.10.2020 Schmidt

10216054 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-52-01-00-SUPPORT geprueft
Schmidt

10216055 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-52-01-00 A Of   1
Size A2

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10216055 

A-A
1:5

B-B

Z

Auszugrichtung "Pump Stage"
pull-out direction "Pump Stage"

Z
2:5

(1
2
5
5)

(260)

(3
0
0)

5
7
9
.
5

(200)(240)

(745.42)

(4
5
0)

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße) - -

Drucktest / Pressure test 15/30 bar/min

Durchflusstest / Flowrate Istwert messen l/min

He-Lecktest/Leakage test <5 E-10 mbar l/s

- - -



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de©

 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

He-Lecktest/Leakage test <5 E-10 mbar l/s

2 1 FBg Connecting tube 466-04-52-13-00 s_list
 

5000079118
FMB

1
1

2
1

3
1

5
1

4
1

6
1

7
1

1 1 FBg Linear feedthrough LD63-100
resolute encoder

284-27-00
LD63-100S-4LS-RESOLUTE

s_list
 

5000065104
FMB

3 1 FBg Filter rack (complete) 466-04-52-23-00 s_list
 

5000079154
FMB

4 1 KBg CF25 Set (4xBolt/4xNut)
4 Bolts Ag (ISO-Standard)

CF025-SBN_A4-80
A4-80
ISO4014-M6x35, ISO4032-M6 

5000055744
-

5 1 KBg CF063 Set (8xBolt/8xNut)
Bolts Ag

CF063-SBN_A4-80
A4-80
ISO4014-M8x50, ISO4032-M8 

5000026140
-

6 1 KT CF-Dichtung CF025-D_OFHC_w
 OFHC-Cu
 

5000002859

7 1 KT CF-Dichtung CF063-D_OFHC_w
 OFHC-Cu
 

5000002863

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 2:5 Mass.:0 kgOberflaechenbehandlung / Surface treatment

Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079117 Datum
Date

Name

Benennung / Name:               
.

Filter unit
Modell:
Model:
ASSEM

Filename: 466-04-52-03-00-FILTER-UNIT gezeichn.
17.08.2020 friedmann

10215765 A 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-52-03-00-FILTER-UNIT geprueft
schmidt

10215769 A 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1

466-04-52-03-00 A Of   1
Size A3

Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10215769 

1:10

1
5
0

(
6
5
.
5
 
.
.
.
 
1
5
0
)

2
2
9

(
1
4
4
.
5
 
.
.
.
 
2
2
9
)

(268.35)
(3
8
7)

(6
1
6)

2
1

2
1

1
2
5

(
1
2
5
 
.
.
.
 
2
0
9
.
5
)

Pruefspezifikation / test specification

Pruefung /
 test name

Sollwert /
 specified value

Einheit /
 unit

metr. Vermessung (Prüfmaße)

Durchflusstest / Flowrate Istwert messen l/min



FMB Berlin
Friedrich-Woehler-Str. 2

12489 Berlin
www.fmb-berlin.de

©
 
F
M
B
 
G
m
b
H
 
 
 
 
 
 
D
i
e
s
e
s
 
D
o
k
u
m
e
n
t
 
e
n
t
h
ä
l
t
 
v
e
r
t
r
a
u
l
i
c
h
e
 
u
n
d
 
g
e
s
c
h
ü
t
z
t
e
 

I
n
f
o
r
m
a
t
i
o
n
e
n
.
 
 
N
u
t
z
u
n
g
,
 
V
e
r
v
i
e
l
f
ä
l
t
i
g
u
n
g
 
o
d
e
r
 
W
e
i
t
e
r
g
a
b
e
 
(
a
u
c
h
 
v
o
n
 
T
e
i
l
e
n
)
 
a
n
 

D
r
i
t
t
e
 
o
h
n
e
 
s
c
h
r
i
f
t
l
i
c
h
e
 
Z
u
s
t
i
m
m
u
n
g
 
d
e
r
 
F
M
B
 
G
m
b
H
 
i
s
t
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
.
 

B
e
r
l
i
n
,
 
G
e
r
m
a
n
y
 
 
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
h
a
s
 
t
o
 
b
e
 
m
a
i
n
t
a
i
n
e
d
 
i
n
 
c
o
n
f
i
d
e
n
c
e
 
b
y
 
t
h
e
 

r
e
c
e
i
v
i
n
g
 
p
a
r
t
y
.
 
I
t
 
i
s
 
f
o
r
b
i
d
d
e
n
 
t
o
 
p
u
b
l
i
s
h
 
i
t
 
o
r
 
o
t
h
e
r
w
i
s
e
 
d
i
s
s
e
m
i
n
a
t
e
 
i
t
s
 

c
o
n
t
e
n
t
s
 
w
i
t
h
o
u
t
 
t
h
e
 
e
x
p
r
e
s
s
 
w
r
i
t
t
e
n
 
c
o
n
s
e
n
t
 
o
f
 
F
M
B
 
G
m
b
H
.

A A

B B

C C

D D

E E

F F

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

Ausdrucke dieser Zeichnung unterliegen nur dem Änderungsdienst, wenn diese zusätzlich den grünen Stempel zur Fertigungsfreigabe enthalten.
Printed copies of this drawing are in change management only, if they additionally contain the green stamp releasing them for production.

0.2 A B 0.2 A B

1
1

2
1

3
1

5
1

6
1

R2

6

20

2

R2

2
0

30

1 1 FBg Be-Window Blank 466-04-52-04-01-00 s_list
 

5000079360
FMB

2 1 FBg Thermo Element 726-10-06 s_list
 

5000056083
FMB

3 1 FT Be-Foil 466-04-52-04-02 (-)  Beryllium
 

5000079370
FMB

4 4 KT Gewindeeinsatz
Helicoil, free running

DIN8140-AM4x8-A4
 A4
 

5000025245

5 1 KT Thermo Couple Joint. Ø1.5, M8x1
complete made of SS

SO51124-1.5-M8x1-D
 s_datasheet
Thermoelementverschraubung 

5000035445
Omega

6 1 KT Linsenschraube ISO7045-H-M2x10-A2
A2
 

5000018849

Pos.
Item

Menge
Quantity

Typ
Type

Benennung / Name
Bemerkung

Zeichnungsnummer / Drawing No.
Norm / Standard / Type

Werkstoff / Material
Halbzeug / Raw Material

FMB Art.-Nr.
Firma/Supplier

1 2 3 4 5 6 7

Stueckliste (Baugruppe oberste ebene) / Bill of material (assembly 1st level)

Pruefspezifikation / test specification
 Pruefung /
Test name

Sollwert /
Specified value

Einheit /
Unit

Bake-out cycle with RGA (1-100 AMU):
 Temperature
 Time
 RGA: Sum of all AMU >28 (except 44) 
 must be less than 1% of total pressure
 

 
max. 250

>24
 

         passed
 
 
 

 
°C
hours
 
 

Final pressure 
 

 <1x10E-10 mbar

He-leaktest:
 Before bake-out at room temperature:
 After bake-out at room temprature:
 (Cooling cycles have to be filled with 
 ~10bar Helium)

 
<1x10E-10
<1x10E-10

 
mbar l/s 
mbar l/s 

Desorption rate <1x10E-12 mbar l/s cm²

inner surface 230 cm²

Water pressure test
 Total test time
 Intervals of recording
No evidence of water leakage:

16
30
5

bar
min
min
    passed

Flow rate:
Pressure drop (to be messured):

3.4
 

l/min
bar

Dimensional test (see drawing):
(room temp. 23±3°C)
 

         passed

Visual internal and external inspection:          passed

Functional test under vacuum:
- Thermocouple (comparison measurement)

 
 passed

Pressure difference at Be window 1.2 bar

Allgemeine Oberflaeche/General surface: ISO 1302Allgemeintoleranzen/
General tolerances
  

ISO 2768-mH
ISO 13920-AE
ISO 8015

Projektion Maßstab/Scale 1:1 Mass.:0 kgOberflaechenbehandlung / Surface treatment

UHVR
Werkstoff: s_list
Raw Mat.: 

Artikel: 5000079367 Datum
Date

Name

Benennung / Name:               
.

Be-Window
Modell:
Model:
ASSEM

Filename: 466-04-52-04-00-BE-WINDOW gezeichn.
29.09.2020 Ryll

10222403 C 01 drawn by

Zeichn.:
Drawing:

Filename: 466-04-52-04-00-BE-WINDOW geprueft
Schmidt

10222404 C 01 checked

H
i
s
t
o
r
i
e
 
d
e
r

Ä
n
d
e
r
u
n
g
e
n

H
i
s
t
o
r
y
 
o
f
 
m
o
d
.

Zeichnungsnummer / Drawing number Rev Page 1
10222404 C 01 VAC / ATM side 03.11.2020

466-04-52-04-00 C Of   1
10220751 B 01 aperture 15.10.2020 Size A2
Doc-ID Rev Ver Aenderung/Mod. Dat. Ursprungs-Dok-ID: 10216734 

Identification
466-04-52-04-00

1:2

A-A

VAC side ATM side

Z

Diffusion bond

Z
5:1

-0.2 +0.2 Rz 10

01

02 03

A

C C

05

04

B

B

0.25
Be-foil thickness

(3
.
5
8)

B
e
a
m

(13.43)
Beam

(90)

0.1

(8
0
)

(8
0
)

(
1
1
4
.
3)

(
1
1
4
.
3)

5
5

(M6)


	Appendix FE2-BM - intro
	Appendix FE2-BM-en-FM1
	FM1-HA-combined
	466-04-12-00-fm1-ha-unit_A_01
	Blatt 1
	Ansichten
	main_view
	Main_view_01
	links_11
	oben_12
	unten_13
	links_14
	W
	V



	466-04-12-01-00-support_A_01
	Blatt 1
	Ansichten
	main_view
	oben_11
	links_12
	Z



	466-04-12-02-00-fm1-polyx_A_01
	Blatt 1
	Ansichten
	new_view_1
	links_3
	rechts_4
	new_view_6
	oben_8



	466-04-12-03-00-heat-absorber_B_01
	Blatt 1
	Ansichten
	MAIN_VIEW
	ISOMETRIC_VIEW
	PROJEKTION_RECHTS
	PROJEKTION_UNTEN
	rechts_5
	rechts_6




	Appendix FE2-BM-en-SLITS
	Slits-unit
	466-04-32-00-movable-aperture_B_01
	Blatt 1
	Ansichten
	ISOMETRISCH
	AVORNE
	links_11
	links_14
	links_15
	oben_16
	new_view_17
	new_view_18



	466-04-32-02-00-support_A_01
	Blatt 1
	Ansichten
	ISOMETRISCH
	AVORNE
	rechts_11
	oben_12
	unten_13



	466-04-32-21-00-blade-unit_B_01
	Blatt 1
	Ansichten
	ISOMETRISCH
	AVORNE
	rechts_12




	Appendix FE2-BM-en-SS-FM2
	FLSC-SS-FM2-merge
	466-04-42-00-ss-fm2-unit_B_01
	Blatt 1
	Ansichten
	main_view_01
	main_view
	rechts_11
	rechts_12
	oben_13
	links_14
	x
	new_view_24
	new_view_25
	new_view_26
	links_27
	rechts_28
	new_view_29
	rechts_30

	Zonen
	H1
	H2
	H3
	H4
	H5
	H6
	H7
	H8
	G1
	G2
	G3
	G4
	G5
	G6
	G7
	G8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8



	466-04-42-01-00-support_A_01
	Blatt 1
	Ansichten
	main_view
	rechts_15
	new_view_19
	links_20
	links_21
	oben_22
	Z



	466-04-42-03-00-screen-actuator_A_01
	Blatt 1
	Ansichten
	main_view
	rechts_11



	726-61-00-shutter-actuator_A_01
	Blatt 1
	Ansichten
	main_view
	rechts_11



	466-04-42-04-00-fm2-polyx_A_01
	Blatt 1
	Ansichten
	new_view_1
	oben_2
	links_3
	rechts_4
	new_view_6




	Appendix FE2-BM-en-FATU
	FATU-combined
	466-04-52-00-fatu-bw-unit_B_01
	Blatt 1
	Ansichten
	ISOMETRISCH
	AVORNE
	links_11
	Z
	rechts_13



	466-04-52-01-00-support_A_01
	Blatt 1
	Ansichten
	ISOMETRISCH
	AVORNE
	rechts_11
	oben_12
	unten_13
	Z



	466-04-52-03-00-filter-unit_A_01
	Blatt 1
	Ansichten
	ISOMETRISCH
	links_12
	links_13



	466-04-52-04-00-be-window_C_01
	Blatt 1
	Ansichten
	new_view_11
	new_view_12
	links_13
	links_14
	oben_15
	Z





